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Please read this information before the examihation starts.

» This examination is 60 minutes long.

AII questions should be attempted

E
¢ Arow of dots .......... denotes a space for your answer.
» Acompletely correct answer may receive no marks unless you show all your

working.

Answers given as fractions_should be reduced to their' lowest terms.
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1. Calculate

(i) 3.6 +1.82

AMNSWERT cvoemessanansasmsossemamsassasesaseass T, (1)
(i) 3.6~ 1.82
ADNSWER .eoivencsorsersssrasscss o R R (1)
(iii) 7.62 x 0.6
CANSWED e (2)
(iv) 7.62 + 0.6
ANSWEL. oo, (2).
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2. (a) Write 0.8 as a porcentage.

ANSWET: wrvisreervereeseraranssessascons Sp— % (1)

(b) Write % as a decimal.

BNIEWEBL ..ossisenssosssssissssss sssvmivsnmmsagmansive @)

(c) Write 24 minutes as a fraction of 2 hours.

ANSWET: worvveircarnsnsessinnaansaens s (2)

(d) Calculate 123% of £6.00
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3. (a) Alar contains 450 grams of jam. U
rs’ e
How many kilograms of jam are there in a case e of 24 ja

JAM

ANSWEL. cererarnnerecnse crrenanssesanasnees s kg (3)

0

(b) 330 millilitres of water fills a glass
Estimate the number of these glasses which can be filled from a 5 litre

container of water.

4. (a) Calculate
1246+ (3—1)

ANSWEL: eerieeeeeeemeeeeeeeeeeeeo (2)
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(b} You are given that
Use this to work out

- (i) 1.46 x 0.048

(i) 7008 + 24

146 % 48 = 7008

ANSWEN: .ocrvieene esveasseareenes ()

(c) By using prime factors, or otherwise, find the largest number that divides

into both 126 and 54

S.A. 2837326
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5. When p=2
find the value of

q= -3 and

) 2g~p

Gy 2=
pq

(i) p°> - gr

(p+ 1)
aq

(iv)

S.A. 2837326

r=4
L g (2)
o
ANBWET v ssvstamtasuinsan erereereeereneenens (2)
ANSWET! ecintnnceeacrnneceeeeee e (2
T (@)
g |



6. (a) Solve the following equation's:

(i) 2(a - 5) = -7_'

Answer: a =

........................................ (2)
s 2D
i) — +1=13
W5 +1=
~ Answer: b = ......... (2) _
(b) Solve the foIIo'wing’inequaIities:
(i) c® <64
PITBWEST inunasss vorssssussissas sasin saus o cessioms (1
(i) 3—2c< M
BNSWEL s shjinminsismnss i ors i (2)
(iii) What is the largest pnme number value of ¢ which satlsftes both
parts (b) (i) and (b) (iiy?
ANIBWET, .o vivssisssssm isiosomsummmpsepmermnnsanmnns (1)
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The tdp of a tile is a 10 cm by 5 cm rectangle. The tile is_ 5 mm thick.

(i) Calculate the volume of the tile.

Mr Grout has a rectangular table top which measures 1.2 m by 0.5 m
He covers the table top with these tiles as shown below.

(i) How many tiles does he need? T el 5 €M
10 cm
05m

-~ 12 m——

not to scale.

— ANSWET oriviiiirernen e eea s assnnsens (2)

(iii) Tiles are sold in boxes of 25 and each box costs £4.95

- (a) How many boxes of tiles does Mr Grout need?
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(i) On the grid above plot the points (4,2), (7,1) and (5,5). _
~ Join them to form triangle A. : : : (1)

(ii) Draw and label the line y=x - o (1)
(iii) Reflect triangle Ain the line y = x and label the image B. ' (2)

(iv) Rotate triangle A through 90° clockwise about centre (8,2) and label the
image C. ' : : , L

(v) Translate triangle A 1 unit to the left followed by 7 units up and label the
image D. | | e T (2)

S.A. 2837326 | 9 o Turn over




9. Anna has a 10p coin, a 20p coin and a 50p coin.

She is going to toss all three coins at the same time.
(i) Complete the table below to show all the possmle sets of heads (H) and
tails (T). ‘

Some have been filled in for you.

10p 20p 50p
H H H
H H T
T T T

(ii) Use your table to state the probability that Anna will toss

(a) one head and two tails in any order

ARSWEIL wavesviommnmunsssinsssniiang R
(b) atleast one tail

ANSWET! et eereareeees e e
(c) an odd number of heads.

ABBWOL srssvsassissiismmmnsmmmmsenssursassinmsnssnses

S.A. 2837326 10
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10. (a) Lucky Jim w;ns 21500'f_0r being ‘Schoolmaster of the Year.
~He spends 3 of this sum taking his vife on holiday.

(i) How much does he spend on the holiday?

ATISWEL & ooeeeeeseeeereeeecassssnesnsessmnransaates (2)

“Jim shares the rest of the winnings equally between his 4 children.

(ii) What fraction of Jim’s total winnings does each child receive?

ANSWET: .oocevercecnnens JFET . - (2)

(b) Tom’s cat drinks % of a litre of milk each day.

(i) How many litres of milk will Tom’s cat drink in 24 days? (f }

CANSWER wveceeeraereeserenianns N litres  (2)

(i) How fong will 12 litres of milk last Tom’s cat?

S.A, 2837326 11 Turn over



rs ($)-
~ 11. When Mickey visited America, 1 pound (£) was worth 1.80 dollars ()

(iy How many dollars were worth the same as ‘£50?

ANSWET: S iivannaenensrenns ST T OSSN s " (B |

(ii) On the grid below, draw a graph to convert pounds to dollars for sumg up

to £50 | : @
100 5 =
% H
80 11 -
R
60 |
dollars jan Eardnsassiss)
() T e
40 ‘ T
e U l .
ENuNd RN - 24
20 |- 5
TR g
._ }h +
0 10 20 30 40 50
pounds (£)
Use your graph to answer the following questions showing clearly where you
take your readings. '
(iii) (@) How many pounds were worth the same as $507
ANSWEN B coneacssonns Gemramnncsmnn (2
(b) The same tie cost £37.50 in London and $60 in New :
Where was it cheaper for Mickey to buy the tie? T
ANSWer: ... ' 2)

S.A. 2837326 12
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ADNGWEE! ceerereiinsersersieesssrisesssssransenss .. km (1)

(i) Queenstown (Q) is 4 km nonh-wost of Princovillo {P).

(a) Using a scale of 1:50 000 plot the position of @ on the diagram below.

N

A

. . (2
Roychester (R) is on a bearing of 015° from Princeville and 4.5 km from
Queenstown.
(b) Plot the position of Roychester. - 3)

(¢) What is the distance from Roychester to Princeville?

ANSWEL: ceivirveeereniararssassessssesmnssssseas km (2)
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13. Here are the first four patterns in a2 sequence.

patten1  pattemn2_ patem3 _ | . JpaiiEm &
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{iii) What is the number of the pattern which has

(a) 64 lines

AATISWET: wrurnesseaccasersssaesnannrossssssassnananasss (1)

{b) 100 d_ots?

ANSWETT <eeveererreeessisrasmsornesssnssasnssasssssases (1)

(iv) What is the number of lines and dots in pattern 137

T R U ———— (1)

attern number if the difference between the number of lines

v) What i's.the
v b f dots is 507

and the number ©

(2

ANSWE: cvevaversrmsaessinesssstasasanssssnsasasnansee

15 Turn over
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14. Simon thinks of two numbers. The first number is x and the second number is y

22”5]?“ he doubles the first number and subtracts the second number the answer
1 ,

(i) Write down an equation, in terms of x and y, to show this.

ANSWET: 1ovvvereierenemenrnmenseeamenersesnsssnssannssanaases (1)

When he doubles the second number and subtracts the first number the
answer is 1 i

(i) Write down an equation, in terms of x and y, to show this.

ADNSWEL ceeerrenerssammernmressorsrmsassansssssssssassssassensns (1)

(iiiy Solve the equations and hence find Simon’s original numbers.

ANSWET: X S susssrsassneswons and ¥ = conccnanisens 4)

(Tntal marks: 100)



